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1. 3% f(x)=—6x"+2x" —x+4 > g(x)=2x" -1 HI :

M fx)+gx=__ (D___ -
Q) f(x)-gx)=__ Q)__ -

Q) f() BRbl g WEs=_3)_ - #hxl=_(@)__ -

2. 5 f(x) BREL g(x) HURE Ay q(x) @ B3Ry r(x) > Al
S BrEL 6g() 1zt (5 el (6)_ -

3. 3% f(x)=x" —10x° +12x° = 25x* —21x* +32x" —46x+10 > 33K f(9)=_(D)__ -

4. SRS £ () =0 + 26" + 1 RRLx— 18 st=_(®)_ -

5. L P(-2,5) Hl
(1) 5 P RAFS x Wy ifmesasimn (@ o

(2) B P RARS y WA SIFREE A QO -

(3) Bh PR B4 y=x (VEITRELAFEE @ -
6. ELFI R ENE y =—2x" +4x—1 > HI]

()EER G ES A (D) -

(2) #0<x<3 > HIEx=_[O_# -y AR MER_(D_ -



E_8o: (B3 H309D)
1 FEZIEF 200 + 6% + 5x = 2 BRDLF (oIl x + 1, 8/308 3x— 5, 30K f(v).
Ans _@_

2. HEER, fOFRLLx? —5x+4 > B x+2 0 FRIAx2—5x+6 - g8 3x+4 >
SCRZIER f(OFRLL X2 —4x +3 1R -

Ans - _@_

3. B f(x)=2x"-5x*+6x+3 - AR :

(D) f(x)=a(x=2) +b(x—2)* +c(x=2)+d - KE¥(a,b,c,d) > Ans - QD

QK y=f)1E x=2 MHE— I - Ans i __@__
(3K £(1.99)ELUE - TWIs A A NEIEE I - Ans 0 Q9

4, RK=REAE y=x"—6x"+x+I1SHEFEDL o Ans _@_

5. BB NIISRAZEL
(1) (x+1)(2x =1)*(x=2)<0 ° Ans Q@D

2)(—x+3)(x - +x+1)=0 ©  Ans - QD

6. URKE y=f(x)WEF LGB FI~.
(DEBEFRE () =0  Ans- @

Q)AL f(x) > 0. Ans Q)
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